NioRNA
PLAYGROUNDS

designed for sustainable and creative play

NS019U
NS0O19

-

03-11-2023 / Rev.: C



NS019U

5856 ‘ ‘ 5430
Max kg / cm
3| o \III I
Nk I 1 B
o
: ]
0 N
8855
™
D
(e

B

~0,46 m® ©10/12x 210 cm 19,2 kg

~226 kg

54 m? 8,85x85x1,3m

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



LE15901

Parts List

QTY PART NO

N3222U

N3119U

N3117U

LE15901

LE15910

Ol lN|alala

RS10038

LE15910

. ®

N3222U

D

NS019U

NS0O19

N3119U

hld

P

N31170 ——

RS10038




1300
430
300

NS019U

800 |

1555

3798

237
322

600 - 800 |,

1623
1708
2137

2241

3113

1788

1545

402

455

3771

5731

910

1418

2455
2804

3075

4725

7300




N3117U
N3117

‘.--,'... = \
| I ®
. AR
" - SMART
www/sc.org
FSC* C105341
YSTEM

PLAYGROUNDS S

designed for sustainable and creative play e Y
02-11-2023 / Rev.: C

B




N3117U

N3117

2100 2654

Max. kg / kg —

1300

955

Iloll

900

~1288

800
fl

|
I
{

5610

5100

9

oJufz]1]:]a

56x51x1,3m ~91kg ~0,08 m® ©10/12 x 210 cm 19,4 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3117U

N3117

D12123

$22533

RS00640

RS00639
Parts List
QTY PART NO DESCRIP.
1 D12123 @100-120mm, Assembled
2 RS00639 @100-120
2 RS00640 @100-120
2 S22533 Taifun




N3117U

N3117

3530

o N
R
~ 8 |l0" / \
»
o / \
o [
© ———— \ #19
- 2
(o]
& < =
1570
0 \




RS00639

/
| &
A
S
&
)y

Parts List
QTY PART NO DESCRIP.
1 D12123 @100-120mm, Assembled
4 L1101 M16 sleeve nut
2 L1102 M16 Threaded rod
2 L1103 @37mm
8 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
8 LE16192 5x80mm
8 LE16502 Spacer 6mm
2 LE16599 Sealtite 970 1,5ml
2 RS00639 @100-120
2 RS00640 2100-120
2 S22533 Taifun

N3117U

N3117

RS00640
#87

L1102

L1101

LE16599

$22533

LE16599

L1103

D12123
L1101
TN
I
’,/'
N
#TA
LE16192
LE15910

LE16502

LE15901

LE13100

S22533



N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3119U

N3119

~N
® .
SMART
ROBINIA
PRE-DRILLED
SYSTEM
J

02-11-2023 / Rev.: B



N3119U

N3119

2070
110

5 y . . 7
o
™

S

hre) I I I I |lon

S

Q| ®
5070
P
2
o
2 51x3,1x1,3m ~41kg ~0,08 m* ©10/12x2100 cm 19kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3119U

N3119

D12155

522534

Parts List

QTY

PART NO

DESCRIP.

D12155

@10/12, Assembled

$§22534

Taifun




N3119U

N3119
2070
110
o
o
™
©
Lfo) IIOII
o
Q8
0 o (o]
0 © -—
v » Tp]
~— ~ o
1555
0 -

1555




—
A
ea
2

— T T
A
O\
)
N~ \
. |
LE13100
LE16502
LE16599
Parts List
QTY PART NO DESCRIP.
2 D12155 210/12, Assembled
6 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
6 LE16502 Spacer 6mm
1 LE16599 Sealtite 970 1,5ml
1 S22534 Taifun

N3119U
N3119

LE15910

LE15901




N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3222U

N3222

02-11-2023 / Rev.: D



N3222U

N3222

MAX kg/cm

2100 ‘ 245

Iloll

450
Q

600

— ~‘\\\~mg

5100

3240

1
(1]

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

14,5 m? 51x3,2x05m ~38 kg 0,076 m* B11x210 cm 18,6 kg

J
This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3222U

N3222

RS10034

~———— RS00675

Parts List
QTY PART NO DESCRIP.
2 RS00675 @100/120
1 RS10034 @100-120-2100mm

RS00675



450 |

2100

N3222U

N3222

245

1685

1555

600

1570

\\\\\~mg

1960

3530




N3222U

N3222
RS10034
I
#87
=
~ B
/ RS00675
&
A i
- B
L1101 A LE15910

LE15901

L1103
]| LE16599
RS00675
Parts List
QTY PART NO DESCRIP.

L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE15901 3x16, PH

LE15910 Name tag

LE16320 6x50 Dh

LE16599 Sealtite 970 1,5ml
RS00675 @100/120
RS10034 @100-120-2100mm

ANl NN




